
+ 

+ 

+ 

HT O 
4 2 9 
1 4 3 

4 02 
16 9 

2 5 6 

HTO 

Jende teant dti sehoa, Chandiganh 
Clags - 1) (Mots) 

1 4 7 

56 

the 

X 7 

HTO 

6 8 
X 9 

Kevision 

touing 

+ 3 

HTO 

78 

5 

+ 0 

X 6 

HTO 

HT O 

+ 3 

1 4 9 

9 
x 5 

2 

3 

1 6 

2 

4 

3 
3 7 

5 
6 

yeti Arona, ma hupindw kas 

8 

HTO 

3 8 

X 4 

HTO 

4 7 

X 7 

HT O 
1 5 5 

+ 1 

6 2 
+ 2 

7 

7 

+ 1 

7 

5 
3 

7 

6 

9 

6 
8 

HTO 

4 5 

x 6 

HTO 

4 8 
X 5 



7 x0 = 

6 x0 = 

4 0 3 

Fill in the boxes. 

3 x0 = 

2 

3 4 3 
1 

2 2 0 

2 

4 x 1 = 

2 x 1 = 

3 x 1 = 

X 

1 

X 

0 1 
5 

1 5 O 

18 0 
1 

X 

1 3 0 

3 

3 1 3 
3 

1 1 3 
3 

3 x 4 = 

4 x 3 = 

6x5= 

X 

X 

20 1 

4 

3 

2 4 
2 

12 0 
4 

9x 4 = 

4 x 9= 

7x3= 



q3) 

e) In a book, there are 210 pages. Ram 
has read 180 pages. How many 

pages are left unread ? 

4 

2 

QFind the difference. 

4 5 

2 

975 
I 28 

Meenu invited 70 friends to a 

party. 25 of them could not come. 

How many friends came to her 

party ? 

4 

Sonu bought 80 Frooti's on his 

birthday. 26 of them were used 
up. How many Frooti's were left ? 

5 9 5 

3 -3 3 2 

8o9 
-372 

2 8 8 

-1 5 
8 

5 5 

572 
-3 L0 

- 1 

1 3 
2 



a) 

) 

) 

5+5 + 5+5z 
3+3+3+3 +3 +3= 
7+7+1+7+1+1+1+1 

t 

5123 

3112 

tiplicaiav 

c) 2q6 

enpanded 
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